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Answer any five questions

1) Explam Bootstrappmg process with surtable diagram.

ii) Explain differences between pass and phase.

Explain the different phases of the compiler, showing the output of each phase
using the example for the statement:  z= ( a*20)+b-c [15]

.....................

What is Ieft fecursion and leﬁ factonng‘7
Eliminate left recursion for the followmg grammar
E > E+E / num
Consider following grammar
S->(L)|a
L -:>‘:1:~';'.S IS i - e oy s

v x'e

) (a0, a))
i) (a, (a,a), (a,a)) [15]

Explain about Top down parsing techniques

Show thit the followmg grammar is LL(l) RN N
Q> AaAb1 BbBa H % Lt b e I
A->¢

B->¢ [15]

Construct LR (1) parsmg table

S — bda
A — d (Write all necessary procedures) [15]

Explaln Wlth an example
Discuss storage allocation for non block structured languages. [15]

What is activation record and activation tree? How are these related with runtime
storage organlzanon‘? [151

..........................................

leferentlate between S- attrrbuted grammar and L- attrlbuted grammar
Explain the steps involved in converting an L-attributed grammar into translated

scheme. [15]

............................

a glven Problem
What is flow graph? Explam how ﬂow graph can be constructed for a given

problem. [15]
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